[53.8]
2.

[56.6]

2.23 j

ALL FITTINGS (2X)
M8 X 1.0

1/4 - 28 UNF THRD (2X)

[82]
3.23
| —

NOTES:

REVISIONS

DESCRIPTION

DWN

1) ROD SHOWN AT MAXIMUM RETRACT

1/18/21 RELEASED

EAS

2) FULL STROKE IS 0.75"

UNLESS OTHERWISE SPECIFIED

ANGULAR DIMENSIONS ARE IN
DEGREES

3) ADD FULL STROKE TO EXPOSED ROD TO |—{222/22 UFDATED SHEELFORMAT ALM
4) KEEP IN MIND EXTENDING MORE OFTHE ‘
ROD CHANGES SPRING PACK PRELOAD
ROD P/N|DIM A|DIM B ﬁ'ﬁéé:) LTE%;’%;
Dzm:ah J/ \l\ 007604 20 1428 | 1668
002079 [:])’222] 1/4 - 28 [3572]
¢ ) 002080 52011 /408 | 11113
005252 | §731 | (20311 17428 | 11190
| osves (171 - |
o 005989 (15212011 14 08 | 12228]
ossr [(V20 A a-an | T80
006939 5721 M6 x1.0] 112781
006940 (230N 1577 M6 x 1.0 T1924]
006941 [UA43N79T M6 x 1.0 116471
006942 [(1O23N 157971 M6 x 1.0| 120321
s [T v-2a TR
ors (83T U2 va-2n 10T
007652 |121%.7] [322-] 1/4 - 28 [%02-4]
© 1 |88

PART DESCRIPTION

DO NOT SCALE DRAWING

MVI 2.5 PUBLIC
PART NO. REV
SEECHART | B

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF TIAL PRODUCTS. [RAATERTAL
ANY REPRODUCTION IN PART OR AS A WHOLEWITHOUT THE WRITTEN PERMISSION OF TiAL
PRODUCTS IS STRICTLY PROHIBITED.

PROJECT NUMBER: 2022-117

DATE DRAWN: | CHECKED BY: | DATE CHECKED:!
12/22/22 | AJE |

12/22/22 | SHEET: 1 OF 1

3 2

1

Last saved: 12/23/2022 11:03:52 AM by: amcmaster



	Sheet1
	Drawing View16
	Drawing View17
	Drawing View18


